Amesbury Elementary School

Writing Program

What is an “Answer Sandwich”

" In an effort to improve student achievement, specifically in the area of
writing, our entire staff has participated in a professional reading called,
Better Answers by Ardith Davis Cole. The Better Answers formula is a

step by step procedure that helps students to focus on written responses that “look good and sound smart”.

The answer sandwich is an effective tool that allows the writer to make sure all parts of a good answer are

included. The picture below illustrates the answer sandwich model.

child(ren) in using this model at home to improve written responses. Here a sample question and answer for
you to use as a model while working with your child at home. This not only works for language class, but is
effective in science, social studies, history, geography and math. We encourage the use of this model for

answering questions in all subjects.

How To Write a Better Answer-Using the Answer Sandwich Model

We encourage parents to assist their
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Sample Question and
answer using the
Sandwich Model

Why were the three bears
upset when they returned
from their walk?

The three bears were
upset when they returned
from their walk because
their house was not like
they left it. (restatement
with gist) To begin with
they noticed that
someone had been eating
their porridge. Next, they
discovered that someone
had broken baby bear’s
chair. Furthermore, their
beds were messed up.

Most important, however,

was that there was a girl
in one of their beds!
(details with evidence)
As a result of all that
confusion, the bears were
very upset. ( concluding
statement)
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